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13[1311 1l BES} ZZEFKSRC 6 3.05.71 14] 1228])IIF8 EBR 10015>&5> 6 3.14.69
15[1615[#E EX JRCHES 6 3.28.09 1311 B0 g ZZFFKSRC 6 DNS
HESEEEES FE# Ea SoEk
1[1615[%f0 =AEBS [JRCH(ES 6 2.28.14
2[1305/\& i UBHeKSC 6 2.31.03
A | 3[1121/MNHE BEX  [HRJ 6 2.31.26
A [ 432802 B/ FE UAC (D) 6 2.31.91
b [ 5[1305[FE =X USHEKSC 6 2.34.15
8 | 6[1615|FE 2R JRCH(F5 6 2.34.58
711615 M BAEH# [IRCHFS 6 2.38.39
812606[4z@ Wi EEPE_/INFR 6 2.40.26
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5&%Z+% 80mH
e _ _ _ __ _
EEEEAES K & FE# = SCER e ] BT K £ PIEf = SCE%
1| 1]61901|/BA i RET1Z7 (R) 5 14.76
B 2|2604|3E Kiz EMO—RE>4 5 20.56
0.0m
5&%8+% 80mH
e _ _ _ _ _
HlE|FES] K & FIE# E ECER e ] TS K £ PIE = ECE%
1| 1|1305|&F4 Fs} |[USHEKSC 5 15.29 2| 1] 61916|Z1L B EXRE— ) 5 20.09
| 2[e1o16|Fart EEP EFRE- () 5 17.69 B| 2| 61916|HH &Y EB¥RE—- & 5 20.28
0.2m| 3[91910[ KT KIE —E(= 5 19.92 |i.6m
6&FLZF 80mH
e . _ _ . _
HIEIES] K 2 FIE& 2 L8R e ] TS K £ PIES = SCE%
1| 1|1305[#EEF XKE UBHEKSC 6 13.35 2| 1[62901 |/ EEdE  [9HmI5T (R) 6 14.25
B| 2[12015EK kI WHJ1Z7 6 13.48 Bl 2| 1217[£=XK 1€ FARAC 6 15.14
0.2m| 3[1305|&M & UBHEEKSC 6] [14.10 |3.0m
3| 1]91906[B9H FF3E HER) 6 14.59
Bl 2[1104EH BE BEEHSD 6 16.10
1.2m
6&FEEF 80mH
e _ _ _ _ _
e == 2 PEs 2[5 B &= 1 K 2 =t A 5
1] 1]1217|ER S RAAC 6] 1[12.81 2| 1| 1305[# & USHEKSC 6 13.83
B 2[1305/VI11 12t DB eKSC 6] 2|13.79 B 2| 1305|%mE f=E USHeKSC 6 14.24
0.8m| 3[1305[FHK BARR [UspeKSC 6] 3[13.81 Jo.6m| 3[91910[#H Bk —EB(x) 6 17.39
3| 1]|61916|ihT e E¥RE_ () 6] 1[17.04 4| 1][91910|db#k R =—EB(x) 6 18.68
Bl 2[610t6|iE IBEE E¥RE_ (%) 6] 2[18.28 B 61916(#21L1 /= EFRE= (3 6 DO
0.2m 0.0m _ _
*DQ:%E 7 /\—-RILAEiB (5%18.65)
5-68F4% 8 0mH ESHBcixbtEl —X
_ ZF _ _ 5 _ _
| E[HFS] K £ FE# E2 SCER e | TS K £ P 3 SCE%
1 1]1217[&5K 1E RAAC_ 6 15.30 1| 1| 61916[IRH BE EXRE- (R) 6 16.20
2|11104[5%H BE BEEHSD 6 16.52 2] 91910(#\H Rk =EB(x) 6 17.07
2604 | RE KR EO0—RE>49 5 DNS 3| 61916|Fatt ZHB EFRE- () 5 17.27
B =]
0.3 0.7
m m
2| 1[91906[B8H BF3= ETNES 6 14.71 2| 1| 1305|18 & USHEKSC 6 14.09
2| 62001 |53 BEIGE  [PHEIST (R 6 15.24 2| 1305|E58& 8 UBHEKSC 6 14.47
61901[FRA #ifs RET1-7 (R) 5 DNS 1305[&F4F Fthsl [USsHeKSC  5|DOl (19.68
B =)
0.6 0.4
m m
3| 1|1305[E% FoRr USHEKSC 6 13.67 3| 1| 1217[FER St RARAC 6 12.95
2|1201 ;&K KIB RES1Z7 6 13.69 2| 1305|HK #BABR |USNKSC 6 13.85
3|1305|%B & USHEKSC 6 14.11 3] 1305[/VI Bt UBHEKSC 6 13.96
B =)
1.2 1.7
m m

*DQ---88 7 /\— Rl AEiB
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5&%&F 100m
SCiRE _ _ __ — =
EEEES K & FiE% E SCE% o E | #wS K & FEZ E SCE%
1| 1[1801|EH =¥ RICHIAC 5 14.11 2| 1]61201|lLA X= FNE (ER) 5 14.47
2(2901 |55 B# 94X R C 5 14.81 2| 61201 |BEH 2518 FNBE (ER) 5 14.75
3|o1010|FEH /NE =B(Xx 5 14.85 3| 1201|@H BF WRH>1Z7 5 14.83
B| 4[1305(4 BEB UBHeKSC 5 14.87 B| 4] 27028k & SvoES S5 - 5 ([#5114.83
0.0 51121 %KE T2 HRJ] 5 14.90 1.0 5[ 61916|.FH #= E¥REE— () 5 14.97
m| 6|52801| A IESEF] |HCTEE i) 5 14.91 m| 6| 1200|EE EF BARI1=7 5 15.04
7l61001|{EEIL HE  |Z#T1=7 (&) 5 15.25 7| 1201|f@L #EREEB  |IRHET1Z7 5 15.12
8[82702|FAR FL¥ BRI/ (£T) 5({opn|14.30 8| 1801| E4F :;-E';? JRCNIAC 5 15.32
3| 1[1801|FK EBF RRICNIAC 5 15.16 4| 1| 1201[F%& & WH>1=7 5 15.40
2|61901| X E B2 R#PT1Z7 (R) 5 15.27 2| 11218 BAF HRJ 5 15.69
311201 [ ARKA 4% WH>1Z7 5 15.29 3] 1801|fH F4iE |RICHIAC 5 15.71
B| 4|1201|HO 7 WH>1=7 5 15.33 Bl 4 2702|FHE#H BF [SvoEHI5—K 5 15.84
0.6 5[1801|@&K —71E RICHIAC 5 15.37 0.9] 5| 1801|KE == RCNIAC 5 15.89
m| 6|1301|4IH Tt JRAEAC 5 15.38 m| 6| 1121|Bl Bx HRJ 5 16.31
711801 |[{E4 K ThZE  |RICHIAC 5 15.50 7| 1602|8837 ZHB FRAESRC 5 16.69
8[91303|&)I| =4 SIF-U14 (&) 5]opn|15.19 1602 |0 B4 FRATESRC 5 DNS
5 111201 Tk WH>1=Z7 5 15.47 6| 1| 1605|AJl %51B TA)—=hxyhk 5 15.70
2|1104|HE BX BEEHST 5 15.57 2| 2604 |#7 K2 EMO—RE>4 5 15.71
3[1602| &K E&E FRAESRC 5 15.58 3] 1201))Il .k ZH#A WHT1Z7 5 15.86
B| 4[1602[1LA R FRAESRC 5 16.11 Bl 4] 1104|X8 t&EF [EEHST 5 15.93
0.8 5[1602(E8F ZFIE FRAESRC 5 16.12 1.0 5| 1301|EH E&¥ JRAEAC 5 16.06
m| 6[2702|84«18 I8 |SvESIS—K 5 16.42 m| 6| 1602|%t& ¥3B FRAESRC 5 16.32
712606 |FH & FEPEE _—/NERL 5|oen[16.08 7] 1201 [#H &BXE WH>1Z7 5 16.42
81121 /ML REZE HRJ 5[orN|16.08 8| 1702|H I B ST 5 16.45
7| 1[1121|=H JFIR HRJ 5 16.34 8| 1| 1201wy BHHE [WRHET1ZY 5 15.96
2[1228|EMH =k’ 10015>&3> 5 16.55 2| 1228|/H EXx 10015>&5> 5 16.26
3| 61901|18 HH#A R#P21=7 (R) 5 16.56 3| 1228|&00 =E#H 10013>&5> 5 16.45
B 4[2902()E k= fHHEE/NER 5 16.57 Bl 4] 1201|A&# ZEH WH>1Z7 5 16.52
1.8| 5|1104|F EBxF BEEHST 5 16.82 0.2] 5| 1121|HK EfE HRJ 5 16.84
m| 6]|1200|H% BXig BEBRI1=7 5 16.90 m| 6| 1602|;xH Fhi5 RAESRC 5 17.05
7191910|427K FiJh =B (X) 5 16.91 71 61901 MK BEZ= REPT1Z7 (R) 5 17.07
8[91910[FHE EXE —E (& 5 16.96 8] 61901 |#PE ZFE REPT1=7 (R) 5 17.28
9| 1|1301|8 EZ JXAEAC 5 16.80 10| 1| 1301|Hh&E OE JAEAC 5 16.89
2[1203[IUAR & HIEAC 5 16.89 2| 1200|&TF E=x BARI1=7 5 17.26
3[1605|=t B TA)—=hxyh 5 16.95 3| 1602|7F = FAESRC 5 17.54
B[ 4|1605|HH BIEYL |[FAU-bxRyh 5 16.97 m| 4 1201(gIH X2 WH>1Z7 5 17.55
0.6| 5[1401|)\K OZH BE)IIERELESST 5 17.13 2.1 5| 1301t B JAEAC 5 17.73
m| 6|1701| kIl ZEFE JACREE 5([orn|16.27 m| 6| 12005 BBX BARI1=7 5 18.20
712606|1HE H% FEEPE _/NERL 5|opn|18.12 71 1701kl FF J ACREE 5]opN|16.30
1201 |8I1H EHE% WH>1=7 5 DNS 8| 2606|¥EE k&= EEBE /AR 5(opn]17.60
11| 1[1228|=%& %XI& 10015>&3> 5 16.54 12| 1| 1201|550 BEES  [WRET1ZY 5 17.31
2(1228| L5 EF 10015>&3> 5 17.59 2| 1602|9M K& FAESRC 5 18.53
31228 AT MAE 10015>&3> 5 17.66 3| 1104|=8 #73 BEEHST 5 19.09
B| 4[1301(HMHA &7E JRAEAC 5 17.79 m| 4| 1228|# A 10015>&5> 5 19.62
0.3 5[1121 (& #B1k HRJ] 5 18.28 1.5/ 5| 1801|=A IRt RICNIAC 5 19.68
m| 6|2604|18&E #£H EMO—RE>49 5 19.10 m| 6| 1602|pkxH #HE FAESRC 5 19.70
61916(1&H &HHD B¥REE— (R) 5 DNS 7] 61916|ikA BE EB¥RE— (X)) 5 19.78
B [ ES| K & FEZ& E SOER & |
1[1801|8H =3 RICHIAC 5 14.11  [+0.0
2[61201[LF = FUNE (R) 5 14.47 [+1.0
A |_3|e1201 | 7518 INE ER) 5 14.75 [+1.0
A [ 4]2901|ES & A4ZX R C 5 14.81 [+0.0
[ 51201 |@&H =T WH>1Z7 5 14.83 [+1.0
8 6[2702[F F &F SvIE IS —K 5 14.83 [+1.0
7(91910|FH /&8 === 5 14.85 [+0.0
811305/t HAP USHEKSC 5 14.87 [+0.0
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5&%8F 100m
g ﬁ:ﬁ
| fH | JI5 | /S E2 FES ¥ SUE% RIS E2 EZ 2 SCE%
1| 1[92802|AREP EABER [HHAC(ER) 5 13.00 2| 1] 1801[dRmE #E=t RICHIAC 5 14.62
2|2702|3FiE K SvES )5 -k 5 13.78 2| 1228[#E YiE 10015>&5> 5 14.85
3[1301[F& EX JXEAC 5 14.09 3] 2702[h#E A— SvIES 5K 5 15.04
m|  4[2702[dbl # SvES IS -k 5 14.32 B 4| 61201|HE =t =NE (R) 5 15.10
0.1 5[1523[iEX Bk AESC 5 14.69 0.3| 5] 91906[&#t & BR(E 5 15.15
m|_ 6[1121|FH H— HRJ 5 14.71 m|_ 6| 2604|=iE 3RFE EEPI0—RE>J 5 15.22
7(1201[5H B= WHR>1=F 5 14.79 7] 270243 BX SvIES)5 - 5 15.39
8[2812[F KK =1 SHIAC 5 14.97 8| 1701|7E%y FU=EF |J ACEEFH 5]opn]15.03
3| _1]1201|%a #hiE WH>1=F 5 15.03 4] 1] 1217 M _ R RAAC 5 15.25
2[1200[/NR 5% EXT1ZT 5 15.06 2] 1104[=F EZ [@I’Jaj 5 15.40
3|2702|FE F0iE SvIESJS - 5 15.11 3] 1201[Adp HE WRHEHZ1ZF 5 15.44
Bl 4[1301[mE & JREAC 5 15.16 B[ 4| 91910|tE& ﬁéﬁ =B(&E 5 15.45
1.5[ 5[2604[QE EE EMO—RE>) 5 15.40 2.6] 5] 1305|EE #%FE O5hEKSC 5 15.66
m|_6][2604|/)\k E&BA EMO-RE>J 5 15.41 m| 6] 122854 I 10015>&5> 5 15.71
7]1201[f =] WRHE>1=F 5 15.62 7] 1121[6FE =X HRJ 5 15.79
170185 JACERE 5 DNS 8| 1701[Ew =% JACER 5lopn]15.49
5| 1[1514[tER & JIREFRC 5 15.22 6| 1]91910[FEH A& =B(& 5 15.66
2|91910|FEE RE [=FB(HE 5 15.23 2| 1228[FEH X 10015>&5> 5 15.74
3[1228[AII &N 10015>&5> 5 15.28 3] 1801[fEsE f&H RCHIAC 5 15.98
B| 4[1801[0%F @K RICHIAC 5 15.32 [l 4] 1305[5H &N USHeKSC 5 15.99
0| _5[1217[#Fx % FTAAC 5 15.74 0.1 5] 1201|=#1 AE REA>1=7 5 16.07
m|_6[1200|FF BX EARI1ZT 5 15.92 m|_6] 1301|;cH FEf JXEAC 5 16.08
71121 kiR AE HRJ 5 16.05 7] 2702[#% fBRE Sy ESJ5—b 5|2#116.08
8]1701 mﬁ J ACERRE 5lopn[15.73 8| 1618| FBF B2 NBEEE 5 16.10
7| _1[1801|HF = RICHIAC 5 15.91 8| 1| 1104|AFE FBEBA |[EFHST 5 16.38
2|1201|EEB ch WREAT1ZT 5 15.96 2| 1301[EHF KT JXEAC 5 16.48
3[1514[FA X JREFRC 5 16.05 3] 1301[1LEK ;‘*,Fﬁ JREAC 5 16.51
Bl 4[1301[FH B JXEAC 5 16.12 &l 4| 1228|FH #HE 10015>&5> 5 16.74
1.7[ _5[1618[FJIl FEE SERERE 5 16.20 1.1[ 5] 1200[BA& @ EAI1ZT 5 17.02
m|_6[1228]|9E #hEE 10015>&5> 5 16.26 m| 6] 1121[FFE®F H Dt HRJ 5 17.24
71201 [EE BE WH>1Z7 5 16.66 7] 91910[lLEk == =B(x) 5 17.54
1605|EH &4 U STE DNS 8| 2606[1EH = EEBEE_/NER Sloen]17.42
9| 1[1301|=XK ﬂ%{: JZXEAC 5 16.23 10| 1| 1201|943 Ml WREH>1=F 5 16.81
2| 61001 |hEF #83) S#Y1-7 (5) 5 16.31 2] 2702[#III £& Sv eI -k 5 16.88
311104|FEAIR g [BEEHIST 5 16.56 3] 1201[377E 4t RE>1=F 5 16.91
&l 4l61016|AF HIK E¥RE- & 5 16.66 Bl 4] 1201|FK #F RE>1Z7 5 17.23
1.6[ 5[1514[dtt WEE JREFRC 5 16.72 0.5 5] 1301[/\t+ #h#s JXEAC 5 17.34
m|_6[1228|# & 10015>&5> 5 17.02 m| 6] 12280l FLX 10015>&5> 5 17.65
7]1801[EHF B3 RICHIAC 5 17.11 61916 KFE HIA E¥RE- () 5 DNS
11 1[2904[7%F #kH S/ NERL 5 16.29 12] 1] 1618[HE 9= FEAEmE 5 16.42
2[2812|XJIl #REA =HIIAC 5 16.90 2| 1203[71H B HEAC 5 16.98
3[1201[&X FL WH>1=F 5 17.13 3] 1228[/\vk_KHE 10015>&5> 5 17.15
m| 4[1201[HE FA RES1Z7 5 17.25 [l 4] 1228|7#R —& 10015>&5> 5 17.48
0.7 5[1201[k %4k BE |[REI1=7 5 17.80 0.6 5] 1200[&ll H%H” EXI1=T 5 17.58
m|_6]61916| 5H ﬂﬁ E¥RE- ) 5 18.02 m| 6] 1228|&l = 10015>&5> 5 17.67
71701 [F+E BA [J ACRE 5|on][17.56 7] 61916[HEF ﬁ%j: E¥RE- () 5 17.73
13| 1[o1910[3)Il AAEFH [=F(HR) 5 17.09 14
2[1618|#&)I] BEX iz k=] 5 17.71
3l1618[HEA —%& KEAEE 5 18.08
&l 4loto10[l KE@ =E (&= 5 18.92
2.4 5[1228[ILAK BFE 10015>&5> 5 19.01
m|_ 62604 |#KH 05k  [EMO-—R¥>J 5 19.40
7(1228 [0 i 10015>&5> 5 20.38
lE [ ES| K & FEs& E SOER & |
1[02802|FREB B ABS [IWHAC(Z) 5 13.00 [-0.1
2[2702|FE & SvESJ5—h 5 13.78 [-0.1
A | 3[1301[F&E B JZXEAC 5 14.09 [-0.1
A [ _4]2702[dkil # v ES IS —h 5 14.32 [-0.1
b [ 5[1801]iF 1 2] RICHIAC 5 14.62  [+0.3
8 | 6[1523[fEX EE&l AESC 5 14.69 [-0.1
7[1121[/FA IE— HRJ 5 14.71 [-0.1
81201|SH BE= WH>1=7 5 14.79 [-0.1
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6FLZF 100m

e
HIE|ES] K & FES ¥ SUE% RIS K & EZ 2 SCER
1| 1[1301|F%FA BEXA |JREAC 6 13.58 2] 1] 61201[lL0 Pk FE (R) 6 13.79
212702 | BEE SvIES IG5 -k 6 13.84 2] 1702|EH = YT 6 14.11
3|61201[fREF EZF FE R 6 13.88 3] 1201[ch4s %36 RE>1=F 6 14.15
&l 49303/ E HC SE-UI1 () 6 14.14 Bl 4| 1201[&H 45 WH>1Z7 6 14.31
1.3[ _5[1602[mE SE RATESRC 6 14.15 0.3]_5[91910[#I 1BE =—E5&E 6 14.45
m|_6[1702|EJIl =z REITYTIL 6 14.15 m|_6] 1602|&H =i EAESRC 6 14.49
7(1201 (=M B¥ WHR>1=F 6 14.37 7] 61901 [#AFF TEAH F#>1=7 (R) 6 14.49
8112034 BAxX HEAC 6 14.56 8] 1120|X BXED RV 6 14.61
3| 1]|61201|(~) EBZE FE R 6 13.66 4| 1| 1305[#E #&E UsHeKSC 6 14.47
2| o1010[FEAH =TE =B&E 6 14.09 2] 91303 [=F ¥ IF-U1 (&) 6 14.53
3[1201[XE B& WHE>1=F 6 14.23 3| 2702|FEESN 8a4 |y ESIT -k 6 14.55
B 4[1301[:EF& REf JREAC 6 14.28 E| 4] 1120][R=A EH eI 6 14.60
6] 5|1801[EA &=F= [RIChIAC 6 14.31 2.7 5] 2702[dt)Il EiX SvIEL I —b 6 2#114.60
m|_6[61201|X)II {"HA FE (R) 6 14.36 m|_6] 1104|kF EZE BEEI5J 6 14.68
7] 61901[EK EE =#T1=7 (R) 6 14.47 7] 91910[#EH &= =E5& 6 14.87
8[1305]1#1l| ¥ UBHEKSC 6 14.50 8| 1120|BF #= 20 l:t'—‘yj’ 6 14.94
5| 1]91910| A Bk =B(x 6 14.68 6| 1| 61201 |ElE BES FE (R) 6 14.60
2[1602[84 MAAN RAESRC 6 14.73 2] 61901 [ AL L& =#Y1=7 () 6 14.85
3[1523[HhE &K AZSC 6 14.80 3] 1200/ /I\BE EXRI1"T 6 14.89
B 491303 1LUA& &40 ILF-911 () 6 14.83 Bl 4] 1305|0vH AAE USHeKSC 6 15.00
7|_5[2702[p0EE ETH SvIES IS - 6 14.94 1.4 5] 1305|=lL EE USHeKSC 6 15.03
m|_ 6]1602|#E #E RATESRC 6 15.00 m|_6| 2702|=ik F&@& [SvESI5-h 6 15.13
7(1120[EF =5 EL el 6 15.14 7] 2606[#EH = EEPE_/\ERK 6 15.21
8[1301|FH =& JREAC 6 15.27 12174 BE :kac_ 6 DNS
7| _1]1228|28 7K 10015>&5> 6 15.21 8| 1| 2601it&X FE JLAREEE 6 15.08
2|61016[iRA UBE  [BFEREE- R 6 15.41 2] 1228[lL%k #BY 1001585 6 15.28
3[1801[AE 'Zff RICHIAC 6 15.50 3] 1301[#i5 odh  [OREAC 6 15.45
411602 |MA £ RATESRC 6 15.51 Bl 4| 1228[#EE EHEE (100150852 6 15.55
Sle1201|=H = FE (R) 6 15.54 2.6] 5| 1200[EH R EXRI1"T 6 15.57
6[(1121 EH & HRJ 6 15.58 m|_ 6] 1104[4H X#HD BEEH5J 6 15.90
7]1203[kH BEE HEAC 6 15.59 1605|[MMHA #HEAE |[7AU-—bryk 6 DNS
811602[%EH X RAJESRC 6 15.63 _
9| 1|2601|HE #HE LA REEE 6 15.27 10| 1| 2601 |#@ia =% JLAREEE 6 15.60
2[1228[K# Bxt¥F [10015>&5> 6 15.69 2] 1228[1lL0 T 1001585 6 15.99
3|1305|EL BEE USHKSC 6 15.90 3] 1228[#21 &H®E 10015>&5> 6 16.07
B 4[1228][]1IFF 5% 10015>&5> 6 15.96 m 4] 112155E EH HRJ 6 16.43
.0 |_5|91905|/=MH TRk tRAC (&) 6 16.32 0.2 5[61916|1BL X EFRE- ) 6 16.61
m|_6[1801|&%F L& RICHDIAC 6 16.37 m|_6] 1104[ttH =R [EEEP) 6 16.70
1120|588 &Hn] EhztvT 6 DNS 7] 1602|E5H B FEAESRC 6 17.90
1| 1[1305|%mM =M UBHeKSC 6 15.29 12] 1] 1305|9%F AM=xE [UBHeKSC 6 15.30
2[2601[&H k& LA RBELE 6 15.76 2| 1228[FA& BN 1001585 6 16.26
3|1228|1£8F <BE 10015>&5> 6 16.07 3] 1228[=& Ex 10015>&5> 6 16.68
B| 4[1819|ILK H#E SULBEESST 6 16.26 B| 4] 619168k 8BS E¥RE- () 6 16.88
2| 5le1916|GiR = E¥RE- ) 6 16.48 0.2 5] 1121|KFM FXE HRJ 6 17.36
m| 6|61916|B8EF k4 EBE¥RE- (R 6 17.22 m|_6| 1602[ILH #& EAESRC 6 17.39
1228|/\H BX 10015>&5> 6 DNS 7] 1228[F%F & 1001585 6 18.61
B E S| K £ FE% £ SUER E
1[1301[F%FA @Bixam  |JREAC 6 13.58 [+1.3
261201 (A~ EEEE F\E (R) 6 13.66 [+1.6
AN 361201 [ 1L PPk FNE (GR) 6 13.79 [+0.3
A | _4[2702| =8 S SvoES IS -k 6 13.84 [+1.3
b [ 5[61201[fREF EZF FNE (GR) 6 13.88  [+1.3
8 6|91910|BEH 21t == (= 6 14.09 [+1.6
7[1702|=H E= FEINTYII 6 14.11  [+0.3
8|91303[/\E HC SIE-11 () 6 14.14 [+1.3
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ﬁ:E
H | g | &S K & FIE# = SCE% e ] BT EEJE. PIEf = SCE%
1| 1[91303]:KH 3IRE SILF-911 (&) 6 13.41 2| 1] 91910[#AF BN =B(& 6 13.55
2|91910[3F K& =B(E 6 13.42 2| 1801|@EE &% RIZDIAC 6 13.80
3121780 ==k RAAC 6 13.57 3] 1801 [ 1=47% 9511 X[ IRTHIAC 6 13.99
B| 4[1605|AJll L FPA)—bhxwhk 6 13.58 Bl 4] 1104|mA i BEFH5J 6 14.01
.8|_5[2702|B8 #f4 5Nk SvIES IS - 6 13.73 0.9 5] 1200|418 WE BAI1ZT 6 14.04
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